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And the owner of the coal should be liable — N bYa 29979

OVERVIEW

The mwn stated that if a dog took a smoldering biscuit and set fire to a granary, the
owner of the dog is liable to pay a P11 °xn1 for the granary. The X723 asks that
(seemingly) the owner of the coal (biscuit) should be liable. M50 explains that the
X713 meant that the owner of the coal should also be liable together with the dog
owner.

= 991939 255N HYa VY XD NYNHIN Hya D) WIVO
The explanation of N> Hva 2>°1°7 is that the owner of the coal should also be

liable, but not that the dog’s owner should be completely exempt from paying;
rather they should share in the payment

- 1399p INAN 231N 22N () NN M1 8,9 47 TV YT
As I explained previously regarding the storekeeper, where the X723 says, ‘why
is he liable’.

mooin offers an additional proof that the question is that they should both be responsible:
- 2951 Y¥a 9091 “INYNI Y RIWA IX N

And additionally if we are discussing a case where the owner of the coal did not

watch his coal adequately and therefore the dog’s owner is 915, so -
- PR RNAYYA NN 297 9N DTN *PIPINM (3,05 ysy MNP ININ

" The case there is where a storekeeper had a kindled lamp outside his store, and a camel loaded with flax walked
by, the flax ignited and burnt a building. The 71w rules that the storekeeper is liable. The X731 established this 71wn
(according to 7"™) in a case where the camel was standing and scorching (n30507) the building. The xn3 asked why
the >111 should be 2»n, since the 92371 %v2 is allowing his camel to scorch the building. nooin there explains that the
question was not that the *11111 should be completely M3, for in the case of the dog (with the n7r3) the X713 here asks
that the n%nan v2 should be 2>1. In each of these two cases there is the source of the fire (the nonan Hva, or the *1n),
and the igniter (the 275 or the 9»3). When the X713 there asks, that the *1n (the owner of the fire) should be M3, it
cannot mean that he should be completely o, for the X713 here asks that the norxi 2va (the owner of the fire)
should be 2°17; meaning that the *1117 cannot be completely 715. The reverse is also true. When the X773 asks here
noman Hva 279 it cannot mean that the 2957 ¥a (who ignited the w*73) should be completely Mo, since the X3
previously asked 2°°11 *XnX *11n; indicating that the 9237 9v2 (who ignited the building) should be (at least partially)
2n. Therefore we must conclude that in both places the X713 means to ask that they should both share in the
payments. See ‘Thinking it over’.

* This would be the reason why the nnan %2 is liable for everything and the 2371 ¥2 would be 5.

3 The mawn on X, states that if there was a string tied to the feet of a rooster and it damaged with the string, the
rooster’s owner pays a P11 °¥m. Initially the X3 cited a ruling of 7"7, which we assumed was referencing the miwn,
that this ruling of 11 is only if the string became entangled in the rooster by itself. However if someone tied it to the
rooster, he is liable to pay a w"1. The X3 there concluded that ;1"1 is not referencing our 711wn, and the reason in our
m1wn that the 9133707 992 pays (only) a 1" is because the 713170 flung the string (7>178 7°>7X), which is a case of n717x
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Why did the X773 need to say that our 7mwn is discussing a case where the rooster

flung the string, and the ruling of 13''% was stated generally; not in reference to the
m1wn; when instead -
- 9909 H19NN YY) BYY PTI AWIPN 2N DIX 1IVP PIINNAN IND X 297 N1*Y

The X132 should have said that 17''1 is referencing our 7w, that if a person tied
the string to the foot of the rooster the person who tied it is liable for a w'1 and

the rooster’s owner is ™ -
- Y2951 HYya 99097 N9 1195

Just like here where the dog’s owner is 112! Therefore -
= 2951 Y¥a ") 29N INDN) MY NHYA INT NN

We must rather say that (even) when he did not watch his coal, the dog’s

owner is also certainly liable -
- PIPINNN NN 297 RNPIN XY 199

So therefore it is understood that i7''9 cannot be referencing the 7w -

219 995 29ANNY 1Y W DNINN YY) AWIPD YN 2NT YUN 29N OTIN IIVPT
Since the ruling of 7"7 ‘that if a person tied it he is liable’, indicates that the tier
is liable for everything, when in truth the rooster’s owner should also be liable.

SUMMARY
In the case where two contributed to the damage (2521 noraT H¥2; PR3 “1nT; WP
213170 2°977) both are liable.

THINKING IT OVER

mooIn proves from the case of *111m 1) that since the X%3 asks 27 "R “11m;
indicating that the 937 %2 should be (at least partially) 2>n, that here too when the
Xnx asks N2naT 9¥2 2177 it means that the nonan 9v2 should also be 21 together
with the 2997 %¥2.> However one can distinguish between the two cases; by the m3
when it was n>odon, the owner should have stopped it while it was nao20n,
however here the owner was not by the 293 to prevent him from igniting the w73,
and therefore he may be "o!°

and therefore he is liable for 1"17 only.
* The cases of the dog and of the rooster are similar; in both there is the damaging item (the coal or the string) and
the perpetrator of the damage (the dog or the rooster). If we assume that the noma7 5¥1 is completely liable (even
though the dog did the damage) it should follow that the 7w (or owner) of the string should also be liable.
Therefore we should be able to apply the ruling of 7" to the mwn.
> See footnote # 1.
% See p"nuw and TMHNT *wION XK # 49-51.
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